
Варіант 1

1) Розкладіть на множники:

а) 3х2 – 12;
б) 50с – 2а2с;
в) 2х2 – 98у2;
г) – 5а3+5аb2.
2) Подайте у вигляді 
добутку:

а) 6а2+12аb +6b2;
б) у3+2у2 +у;
в) – m2 +8mb – 16b2;
г) – 12n3+12n2 – 3n.

Варіант 1

1) Розкладіть на множники:

а) 3х2 – 12;
б) 50с – 2а2с;
в) 2х2 – 98у2;
г) – 5а3+5аb2.
2) Подайте у вигляді 
добутку:

а) 6а2+12аb +6b2;
б) у3+2у2 +у;
в) – m2 +8mb – 16b2;
г) – 12n3+12n2 – 3n.

Варіант 2

1) Розкладіть на множники:

а) 6х2 – 24;
б) 2с – 18р2с;
в) 3у2 – 75а2;
г) – 6ау2 +6а3.
2) Подайте у вигляді 
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а) 5n2 – 10nb +5b2;
б) а3 – 2а2 + а;
в) – а2+12аb – 36b2;
г) – 12m3 – 12m2 – 3m
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